38th Petrozavodsk Programming Camp, Winter 2020
Day 6: Lviv NU Contest, Monday, February 3, 2020

b

Moscow Workshops

%o, .

Problem |. Special Game

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 256 mebibytes

Dmytryk and Petro are playing the following game. They have 2n cards with integer values 1 to 2n, all values are
different. At the beginning of the game, each player has exactly n cards.

A total of n rounds occur, and Dmytryk makes the first turn in the first round. In each round, the player that
makes the first turn takes out one of his cards. Then the other player (seeing the first player’s card) takes out one
of his cards. The player that has the largest card value wins the round and takes the first turn in the next round.

Both cards are then removed from the game.

There is an additional rule: in each round, if the player making the second turn has a card with bigger value than
the other player’s card he sees, he is obliged to take out one of such cards.

The objective of each player is to maximize the number of rounds he wins. Find the maximum number of turns

Dmytryk can win, if both players play optimally.

Input

The first line contains a single integer n (1 < n < 1000). The second line contains n integers — Dmytryk’s cards.

The third line contains Petro’s cards.

Output
The answer to the problem.

Examples

standard input standard output

3 1

125

346

2 2

4 3

12
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